
 

Y x 4 5 C quadratic parabola

Y 7 21 line

substitution both are _y
they are equal

to eachother

4 45 15 7 121

X 8 1615 7 21
7 21 17 21

02 x

x x l 0 oil's

X 0 X 1 0 Stillneodtofindy

x I

Let x O

y 7 121 7 121

I
Haman

y 14
1,14



y fx
radical

x y 132 circle centerloso
radius fFz f4Fs

It 5 132 253

IL H

i as i'I
132

ith x H O
in

Xtiko x 11 0

X 12 x H

Need to find y
Letx 12

y f c do not use circles or other conics
unless necessary

y Fh Fifi 2rzi G42r
cannotgrophabi
reject

Let x Il

y fi I x only solution



X 4 10 line

x y 15 circle

T
X 2y 110

2 10 t y 25

442 40 1100 142 25

542 140 175 0

5 yl 18 1 15 O

5 y 1534 37 0

51 0 y 15 0 or y 13
0

y
5 y 3

Find x Always choose linear
conics give
extraneous

Lety 5 solutions

X 2y 110 unless

t.in IEIIIIiiouni.x
4

0 5 41 3



4 2 3 2 43 ellipse

3 2
Zyl 6 c hyperbola

ax bx c

conic equation

since two variables are the same

we can use elimination

4 2 t 3 2 43

3 2
Ly 6 Choose to

2 4 2 3 2 43 eliminate
Y

8x t 6 y 86
9 2 6 18

17 2 68

x ff 4
2 4



x I2

Forced to use conic equation to solvefory

Letx 2 Let x 2

3 2 2 2 6 3 2 2 2 6

31212 2
2 6 3 12 2

2 6

i l
I I I I

y2 9 y2 9

y 13 y 13

2,3 L2 3 C2,3 E 3



3xty 4 Note et

X Sy zz

minationdoesn't

work on X

x x are not

s 3xty 4 like terms

X2 32

9 34 12

xLXy
2t9 20

X 19 120 0

x 14 Gtf O

x 4 x 5
3 4 4

II a stay
15 1 1 412 14 4 th 115

112 112
7 19

C 4,16 5,19


